But looks can be deceptive, so let's look at theffour Homes (shown shaded in the calls columi

e Lee in more detail. Look for a pattern in who does what. Fc
&v (o) While you are calling, it is much easier toexample, which bells make the singles? The k
9 . check the ringing (and to correct any trips) if yodhat makes the single jumps forward two places

,o keep track of the coursing order, as explained the coursing order (the opposite effect to makil

9 4@ The Learning Curve, in January 2004 (Volume 3the bob, where it jumps back two places). TI

Cu( Chapters 1 & 2). bell that makes the single appears in the sect

The 1280 in detalil position of the Home column (of the courses tt

A regular feature sponsored by the Central Figure 2 shows all parts expanded, and all tftnd in a single). These are ringed in Figure 3, ¢
@Council Education Committee coursing orders in columns corresponding to th¢oU can see that the 4 makes all the singles,
www.cccbr.org.uk/education/ calls that generate them. (The initial coursin§oth blocks. Notice also that 4 also makes t

. Order is to ri ht Ca”s Before make the Ten(ﬁob at a" the bObS that alternate W|th the Sing‘
Calling quarter peals repeat a Iepad,gsg there can be more than one(@lso ringed). So during these long blocks, the

In May, The Learning Curve described the them in a course, as there are in this compositiodMPs back and forth in the coursing order.
benefits of ringing quarter peals, and gave a fepr tidiness, we could just have shown the Apart from being useful to know what the 4 i
hints about the conductor's task. This month Wgoyrsing order generated by the combined strirfing, this is also a valuable signpost for you
look a little more deeply into calling quarter pealsyf gefores (in this case two) but Figure 2 show&onductor. Suppose when you arrive at the blc
Itiis of course potentially a huge area, so we C3fe effect of each call separately. This means tHak four Homes, you can’'t remember whether
only dip a toe in the water. First we will look athe first two rows of each part (as drawn hereghould be S-S- or -S-S. Check where the 4 i
some general aspects, and then at some specifiate to one long course, rather than two separdf coursing order (see the column for the Midc
examples. courses. The pairs of Homes are different — thépat you called the previous lead) and you see t
Calling do come in successive courses, as shown. it is ready to jump forward by making a single

To call a quarter peal successfully, you must It always helps to look for any patterns in théhe Home. In the same way, in the rest of t
learn a composition, then remember it, and finallgoursing order throughout the composition, as aHock, if you forget whether the last call was a b
call it accurately. While doing so, you must alsextra check, as well as transposing them as you §b@ single, just check the position of the 4 in tl
ring your own bell correctly. You should also bealong. In a 5-part composition like this, bells 2, Jcoursing order, to see what comes next.
able to check whether the ringing is still correc4, 5 and 6 cycle round each position in each part. If You manage to go to sleep, and are not s
and ideally you should be able to correct som®o if you look at the corresponding spot in all fivevhen you have got to the end of the foi
errors if they occur. parts, you will see each bell once. For examp|§!omes,,you don't have long to think about

Don't get hung up about correcting errorslook at the left hand figures in the Wrong columfpecause if you have finished, the Wrong in tl
Nobody can correct them all, especially if twqshaded grey). The numbers in the right harfrning course is at the next lead. There is ¢
people conspire to fall asleep at the same timposition in the Home column (also shaded) arérther clue to help you — the coursing order at t
But correcting some slips will greatly increase thenore memorable, because the bells appear §Rd of the first long block has 2345 in sequen
band’s chance of success. In some ways, itfescending order (5432) before 6 returns to if§receded by 6 of course).

unfair to expect one person to put everyone els@tural place for the final part. WBMH W B M 532ﬁ6
right, unless the others are |nexper|enceduW BMH W B M 532'916 1 — 65324 53254
Everyone should try to make sure that errors don't: 30546 63254 - 62534
occur, and to make sure that when they do, they | |_ 46325 43265 _s 62345 64325
are self corrected if possible. - 42635 - 63245
On the other hand, the conductor normally has- 26435 52643 S 64235
a better overview of how the composition works, - 35264 32654 - 62345
and therefore knows what to expect, whereas the — 36524 -1 - 23645 52364 53624
ordinary ringer doesn’t know what is coming next = 65324 |46532 S 53246 54236
until each call arrives. The conductor can work - 24653 26543 - 52346
out the new coursing order just before making the - 25463 S 54326
call, whereas the rest didn't know there was about—@ 54263 35426 - 53246
to be a call. _ ] - 63542 65433 Figure 3: 1264 Plain Bob Major
Two examples — Plain Bob Major - 64353 Having analysed both of these compositior
Let us look at some real examples. They are‘@ 43652 P4365 you might decide that the second one is actue
both Plain Bob Major, but we can look at other B 52436 p4326 easier (and safer) to call, even though at first si¢
methods in a future article. 53246 it didn’t look the simplest. The real messac
Figure 1 shows two simple touches of Plain Figure 2: 1280 Plain Bob Major though, is that you should try to find out how
Bob Major fromThe Ringing World Diary. The The 1264 in detail composition works before calling it. Don’t jus
notation was explained ifihe Learning Curve in Figure 3 shows the 1264 in full. It lookslearn where the calls are and hope for the be

June 2003 (Volume 2, Chapter 18). The columnsmaller as there are no repeated calls Before, Bty to extract as many clues as you can from 1
(WBMH) represent the calling positions, and thel courses are drawn on a single row. Count tl@mposition. Not only will they help you tc
numbers on the left are the resulting course enggumber of calls. There are only 16 — nine fewetheck whether it is right, but they might also sa
Actually they are not all of the course endsian the apparently simpler 1280, which has 25.you from mis-calling it.

because they use the shorthand of showingThe composition is broken into four blocks, It might seem that for an inexperience
multiple calls in the same position, with a singléwo of which are four courses each, with identicatonductor, this is all too complicated, but it is tt

number, and occur in separate courses. (and simple) calls. These are separated by venexperienced conductor who is most likely 1
1280 1264 short blocks (sometimes called turning coursesged extra clues to help keep the ringing (and
23456 WBMH 23456 WBMH  hough the first is actually two courses). calling) right.
62345 -2 2 52364 - 2 To see the effect this has, look down the left Tail End
Repeat 4 times 32465 -4 hand figures in the Home column (shaded). The The Learning Curve, Volume 2: 2002-2003,
(23342122 T 4_ first course puts the 6 there, where it remains ungihd Volume 3: 2004-2005, are available fro@

the other turning course returns the 5 to that sldtublications,
Figure 1- . fPI4_m§ark1)sMS-_S- where it remains until the end. Notice also that
gure 1. Quarters of Plain Bob Major the 5 occupies the right hand slot of the Home

At first glance, the one on the left looks a1l plumn throughout the first long block, as does

Itis a 5-part calling (repeat 4 times’ assumes th?e 6 in the second long block. So there are long

you have already rung it once) so there is less retches where you know what these two should

learn. The one on the nght IS a lll—part .Ca.”'n.g()e doing, and only need to worry about 2, 3 and 4.
though there is some partial repetition within it The little bells do all the work in the strings of
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